PAPER 3 
CHEMISTRY MARKING SCHEME 
1A.Titration label –(4mks)
Award as follows
· Complete table –1mk
· Decimal …..1/2mk tied only to the first and beyond rows only. Ie one decimal place through out or if two decimal places, the last digit must be zero or 5 through out otherwise 0 mark
· Accuracy
If any +- 0.1 of the s.v award 1mk
If none of check if any value is within +- 0.2 award ½ mk, otherwise 0 mk
· Principle of arranging …..1mk
· Final answer …..1mk let the candidate answer (use condition for accuracy to award marks)\
bii.RFM of C =126 1/2mk
Concentration of c =6.3/126 correct Ans 1/2mk
(do not penalize if the RFM is wrongly calculated )
iii.Moles of C used = (ans (ii) x litre value ) ÷1000
iv.Dibasic acid ;NaOH=1:2 ½
Moles of A in 25cm3 =ans (iii) x2 =correct answ
v.Concentration of A =(ans (iv) x 1000) /25=correct ans ½
TITRATION TABLE 2 (41/2mk)
Award as follows –as per table 1 above
c.Moles NaOH used =(molarity in procedure 1b(v) x 25) /1000) ½ = correct ans ½
d.Moles of D =(time value from  table 2x25/1000)1/2
Correct an ½
e.Moles of D in 250ml has mole in d. above x(250/25) = ans Q
NaOH : HCL=1:1
[bookmark: _GoBack]25ml of B has answ Q
f.Molarity of B =(ans Q x 1000) /25  1/2 = correct ans 1/2 
QUESTION 1B
Table 3……………………(3mks)
Award as follows 
Complete table ………….(1mk) penalize half mark
Once incomplete table
Decimal ……………………1/2mk whole numbers /one decimal place 0.0,0.5 used throughout.
Accuracy ……………..1/2mk (+-20C at second minute of the s.v
Trend ……………..1mk (constant temperature from 1st minute  1/2mk, then constant temp. from 21/2mk minute to 41/2 minute 1/2mk (all temp must be lower /than from the 1st trend)

GRAPH (3MKS)
Award as follows 
· Labeling both axes correctly…..1/2mk
· Scale …..1/2mk (actual graph to occupy atleast half of the space on each  axis )
· Plotting ……………………………….1mk (all 8 to 9 plots correctly plotted award 1mk. 5 to 7 plotted around half marks, less than 5 zero ).
· Shape ………………1mk
[image: Description: C:\Users\uawe\Desktop\20170302_092254.jpg]

i. Showing the Dt correctly 1/2mk
ii. Then reading it correctly  1/2mk
iii. Moles =3/101=0.0297 1/2mk (3d.p)
30 x Dt x 4.2 ½ =correct ans ½
iv. Heat of solution =ans in iii /ans in ii above =-ve value ½ (ignore the answer of no negative sign.)
a.
	Observation 
	inferences

	Droplets of a colourless 
Liquid from on cooler parts of the boiling tube
	C is hydrated
C contains water of crystallization 



b.
	Observation 
	inferences

	Dissolves to forms a pale green solution
	Coloured ion soluble 



i.
	Observation 
	inferences

	Green ppt insoluble in excess
	Fe2+ present


ii.
	Observation 
	inferences

	Green PPt which turns brown on adding H2O2
	Fe2+ present or Fe2+ oxidized to Fe3+



iii.
	Observation 
	inferences

	White ppt that persist warming
	cl- absent



iv.
	Observation 
	inferences

	White ppt
	So2-, SO3-, CO32- present




v.
	Observation 
	inferences

	The green colour of solution faded turns colourless 
A grey deposit 
	Zn displaces cation of C from solution 



3a.
	Observation 
	inferences

	Burns with yellow flame 
	C=C or C=C



b.
	Observation 
	inferences

	Forms a colourless solution 
	Polar substance



c.
	Observation 
	inferences

	Purple colour turns colourless 
	C=C or C=C
R=OH



d.
	Observation 
	inferences

	pH =5
	Weakly acidic 






Compiled and supplied online by Schools Net Kenya|P.O. Box 8076 – 00200, Nairobi   Tel: +254202319748 | +254 711 88 22 mail: infosnkenya@gmail.com Website: www.schoolsnetkenya.com

image1.jpeg
\

ANEN

e
N s

N





